_W.00.0
W.00.7

Spare Parts | Komet Precision Wave (KPW) - HEAD DOWN (Yellow) Installation

_W.00.1

w4 / w17

W.00.2 -

140




Spare parts | Komet Precision Wave (KPW) - HEAD DOWN (Yellow) Installation

ENGLISH DEUTSCH ITALIANO FRANCAIS Q.ty | Part Number
Stk. | Artikel-Nummer
Q.ta | Codice Articolo
Description Bezeichnung Denominazione Désignation Q.té | Référence Piece

W.00.0 | Kit Adapt.11/4"NPT w/6"-15cm| Kit Anschl. 11/4"NPT m/6"-15cm | Kit Attacco 11/4"NPT c/6"-15cm | Kit Racc. 11/4"NPT a/6"-15cm| 1 07010899
W.00.7 | Kit Adapt.11/4"BSP w/6"-15cm | Kit Anschl.11/4"BSP m/6"-15cm | Kit Attacco 11/4"BSP c/6"-15cm | Kit Racc. 11/4"BSP a/6"-15cm| 1 07010938
W1 Adapt. 11/4"NPT w/6"-15cm Anschl. 11/4"NPT m/6"-15cm Attacco 11/4"NPT ¢/6"-15cm Racc.11/4"NPT a/6"-15cm 1 07010888
W16 Adapt. 11/4"BSP w/6"-15cm Anschl. 11/4"BSP m/6"-15cm Attacco 11/4"BSP ¢/6"-15cm Racc.11/4"BSP a/6"-15cm 1 07010930
w2 Locking bolt M5x65 Fixierschraube M5x65 Vite fissaggio M5x65 Vis de fixation M5x65 2 02010754
W3 0O-Ring 52x3 0O-Ring 52x3 0-Ring 52x3 0-Ring 52x3 1 02010756
W.00.1 | Kit Adapt. 2"NPT w/6" - 15cm Kit Anschl. 2"NPT m/6" -15cm Kit Attacco 2"NPT ¢/6" -15cm Kit Racc. 2"NPT a/6" -15cm 1 07010900
W.00.8 | Kit Adapt. 2"BSP w/6"-15cm Kit Anschl. 2"BSP m/6"-15cm Kit Attacco 2"BSP ¢/6"-15cm Kit Racc. 2"BSP a/6"-15cm 1 07010939
w4 Adapt. 2"NPT w/6" - 15cm Anschl. 2"NPT m/6" - 15cm Attacco 2"NPT ¢/6" - 15cm Racc. 2"NPT a/6" -15cm 1 07010889
W17 Adapt. 2"BSP w/6"-15cm Anschl. 2"BSP m/6"-15cm Attacco 2"BSP ¢/6"-15cm Racc. 2"BSP a/6"-15cm 1 07010931

w2 Locking bolt M5x65 Fixierschraube M5x65 Vite fissaggio M5x65 Vis de fixation M5x65 2 02010754
W3 0O-Ring 52x3 0-Ring 52x3 0-Ring 52x3 0-Ring 52x3 1 02010756
W.00.2 | Kit Deflector - Head-down Kit Deflektor - Head-down Kit Deflettore - Head-down Kit Déflecteur - Head-down 1 07010901

W5 Deflector - Head-down Deflektor - Head-down Deflettore - Head-down Déflecteur - Head-down 1 07010885
w18 Bolt M6x45 Schraube M6x45 Vite M6x45 Vis M6x45 1 02010801

W.00.4 | Kit Filter Kit Filter Kit Filtro Kit Filtre 1 07010904
w7 Filter Filter Filtro Filtre 1 07010883
weée SCREW PT 60X20 SCHRAUBE PT 60X20 VITE PT 60X20 VIS PT 60X20 1 02010166

w8 O-RING 8X2 O-RING 8X2 O-RING 8X2 O-RING 8X2 1 02010758
W.00.5 | Kit Actuator Kit Aktuator Kit Attuatore Kit Actuateur 1 07010903
wWo Actuator Aktuator Attuatore Actuateur 1 07010887
w8 0O-Ring 8x2 O-RING 8X2 0O-Ring 8x2 0-Ring 8x2 2 | 02010758
W10 Bolt M5x16 Schraube M5x16 Vite M5x16 Vis M5x16 2 02010587
Wi Washer 5 Scheibe 5 Rondella 5 Rondelle 5 2 02010040
W.00.6 | Kit Body Kit Korper Kit Corpo Kit Corps 1 07010909
W12 Body Kérper Corpo Corps 1 04010878
w8 0O-Ring 8x2 0O-Ring 8x2 0-Ring 8x2 0-Ring 8x2 2 02010758
W3 0O-Ring 52x3 0-Ring 52x3 0-Ring 52x3 0-Ring 52x3 1 02010756
W13 Nozzle Seal Dichteinsatz Diise Guarnizione boccaglio Joint buse 1 02010753
W15-52 | Nozzle #52 - 10mm purple Dise #52 - 10mm purpur Boccaglio #52 - 10mm porporal Buse #52 - 10mm pourpre 1 07010890
W15-56 | Nozzle #56 - 1Ilmm white Dise #56 - 1Ilmm weiss Boccaglio #56 - 11mm bianco Buse #56 - 1lmm blanc 1 07010891

W15-60 | Nozzle #60 - 12mm red Dise #60 - 12mm rot Boccaglio #60 - 12mm rosso Buse #60 - 12mm rouge 1 07010892
W15-65 | Nozzle #65 - 13mm orange Dise #65 - 13mm orange Boccaglio #65 - 13mm arancio | Buse #65 - 13mm orange 1 07010893
W15-70 | Nozzle #70 - 14mm yellow Dise #70 - 14mm gelb Boccaglio #70 - 14mm giallo Buse #70 - 14mm jaune 1 07010894
W15-75 | Nozzle #75 - 15mm grey Dise #75 - 15mm grau Boccaglio #75 - 15mm grigio Buse #75 - 15mm gris 1 07010895
W15-80 | Nozzle #80 - 16mm green Dise #80 - 16mm grin Boccaglio #80 - 16mm verde Buse #80 - 16mm vert 1 07010896
W15-85 | Nozzle #85 - 17mm brown Dise #85 - 17mm braun Boccaglio #85 - 17mm bruno Buse #85 - 17mm brun 1 07010897
W15-90 | Nozzle #90 - 18mm dark blue | Dise #90 - 18mm dkl. blau Boccaglio #90 - 18mm blu sc. Buse #90 - 18mm bleu foncé 1 07010898

[ Grey shaded part numbers: not available as single parts, please select appropriate kit/assembly « Grau hinterlegte Ersatzteile: einzeln nicht erhiltlich, sondern nur im entsprechenden
Ersatzteil-Kit « Pezzi di ricambio su fondo grigio: non fornibili singolarmente, selezionare il kit ricambio desiderato « Pieces de rechange sur fond gris: ne sont pas disponibles séparément,
sélectionner le kit pieces souhaite * Las referencias sombreadas en gris: no estan disponibles como piezas solas, por favor seleccione el equipo/conjunto apropiado apropiado  Pecas com
nuimeros sombreados de cinza: ndo disponiveis como pegas individuais, por favor, selecione o conjunto/montagem apropriado.

141



